Year 5 Worksheet 5 - Division

Question 1: Division of 3 and 4-digit numbers by 1-digit mentally

462 + 3 = 810+ 2 =
976 + 4 = 1200 + 6 =
3968 + 8 = 541 + 7 =
327 +5 = 8624 + 4 =
4191 + 3 = 2875 + 5 =
4980 + 6 = 3672 +8 =
9021 +9 = 7518 + 7 =
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Question 2: Long division (no remainder)

4212 T 32 7104 T 48
5928 I 63 8740 I" 52
6856 I 22 37481 17
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9216 1" 96 5260 1" 74
7592 T 44 4980 " 60
6428 I 53 9136 I" 72
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Question 3: Long division (with remainder)

5473 1" 35 8224 I 67
7319 T 56 6850 I" 74
4567 I 98 9438 I” 81
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6712 T 52 5863 I'79
9321 T 66 7890 1"97
5648 I"83 7432 T 62
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Answer Key

Question 1: Division of 3 and 4-digit numbers by 1-digit mentally

462 + 3 = 154 810 + 2 = 405
976 + 4 = 244 1200 + 6 = 200
3968 + 8 = 496 541 + 7 = 77 (R=2)

327 + 5 = 65 (R=2) 8624 + 4 = 2156
4191 + 3 = 1397 2875 + 5 = 575
4980 + 6 = 830 3672 + 8 = 459
9021 + 9 = 1002 7518 + 7 = 1074 (R=6)
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Question 2: Long division (no remainder)

42121 32 =131

7104 T 48 = 148

5928 " 63 = 94

8740 T 52 =167

6856 I 22 = 311

3748 1 17 = 220

9216 T 96 = 96

52601 74 =71

7592 7T 44 =172

4980 " 60 = 83

6428 I 53 = 121

9136 1" 72 =127

Question 3: Long division (with remainder)

9473 + 35 =156, R=13

8224 + 67 =122, R=30

7319 + 56 = 130, R=39

6850 + 74 = 92, R=38

4567 + 98 = 46, R=63

9438 + 81 = 116, R=42

6712 + 52 = 129, R=20

5863 + 79 = 74, R=37

9321 + 66 = 141, R=45

7890 + 97 = 81, R=33

5648 + 83 = 68, R=44

7432 +62 =119, R=50
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